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25/AGS/M-2023-06 Booklet Series
Candidate’s Roll Number

A
Question Booklet g
v
AGRICULTURAL ENGINEERING
Paper—II
Time Allowed : 2 Hours Maximum Marks : 200

Read the following instructions carefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS

This Question Booklet contains 100 questions in all.
All questions carry equal marks.
Attempt all questions.

Immediately after commencement of the examination, you should check up your

Question Booklet and ensure that the Question Booklet Series is printed on the top

right-hand corner of the Booklet. Please check that the Booklet contains 32 printed

pages including two pages (Page Nos. 30 and 31) for Rough Work and no page or
question is missing or unprinted or torn or repeated. If you find any defect in this

Booklet, get it replaced immediately by a complete Booklet of the same series.

5. If there is any sort of mistake either of printing or of factual nature, then out of English and
Hindi versions of the questions, the English version will be treated as standard.

6. You must write your Roll Number in the space provided on the top of this page. Do not write
anything else on the Question Booklet.

7. An Answer Sheet will be supplied to you along with Question Booklet to mark the answers.
You must write your Name, Roll Number, Question Booklet Series and other particulars
in the space provided on Page-2 of the Answer Sheet provided, failing which your
Answer Sheet will not be evaluated.

8. You should encode your Roll Number and the Question Booklet Series A, B, C or D as it is
printed on the top right-hand corner of the Question Booklet with Black/Blue ink ballpoint
pen in the space provided on Page-2 of your Answer Sheet. If you do not encode or fail to
encode the correct series of your Question Booklet, your Answer Sheet will not be
evaluated correctly.

9. Questions and their responses are printed in English and Hindi versions in this Booklet.
Each question comprises of four responses—(A), (B), (C) and (D). You are to select ONLY ONE
correct response and mark it in your Answer Sheet. In case you feel that there are more than
one correct response, mark the response which you consider the best. In any case choose
ONLY ONE response for each question. Your total marks will depend on the number of
correct responses marked by you in the Answer Sheet.

10. In the Answer Sheet, there are four circles—®), ®), © and @ against each question. To
answer the questions, you are to mark with Black/Blue ink ballpoint pen ONLY ONE circle
of your choice for each question. Select only one response for each question and mark it in
your Answer Sheet. If you mark more than one circle for one question, the answer will be
treated as wrong. Use Black/Blue ink ballpoint pen only to mark the answer in the
Answer Sheet. Any erasure or change is not allowed.

11. You should not remove or tear off any sheet from the Question Booklet. You are not allowed
to take this Question Booklet and the Answer Sheet out of the Examination Hall during the
examination. After the examination has concluded, you must hand over your Answer
Sheet to the Invigilator. Thereafter, you are permitted to take away the Question Booklet
with you.

12. Failure to comply with any of the above instructions will render you liable to such action or

penalty as the Commission may decide at their discretion.

PONE

13. Candidates must assure before leaving the Examination Hall that their Answer Sheets will be
kept in Self Adhesive LDPE Bag and completely packed/sealed in their presence.
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1. The energy of a closed and

isolated system

(A) remains constant
(B) increases

(C) decreases
(

D) None of the above

Which law of thermodynamics
states that “equal volume of
gases at the same temperature
and pressure contains the same
number of molecules”?

(A) Charles’ law
(B) Boyle’s law

(C) Avogadro’s law
D

) Kick’s law

Polytropic  expansion  differs
from adiabatic expansion in that
the

(A) heat is added during the
process

(B) heat is removed during the
process

(C) heat may be added or
removed during the process

(D) None of the above

Paraboloidal dish-type solar
collector can produce tempera-
ture up to

(A) 1000 °C
(B) 2000 °C
(C) 3000 °C
(D) 4000 °C
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Keeping the other factors
constant, a floating drum-type
biogas plant

(A) produces higher gas than
fixed dome-type plant

(B) produces lesser gas than
fixed dome-type plant

(C) produces gas equal to a
fixed dome-type plant

(D) produces either equal or
less gas than fixed dome-
type plant

In an wupdraft gasifier, the
temperature of oxidation zone
ranges between

(A) 500 °C-700 °C

(B) 600 °C-800 °C

(C) 700 °C-900 °C

(D) 1000 °C-1200 °C

Wind with 6 as Beaufort number
will have speed in the range of
(A) 36 m/s-5 m/s

(B) 58 m/s—6:5 m/s

(C) 11 m/s-14 m/s

(D) 17 m/s-21 m/s

The solidity of a windmill with

6 m rotor having 30 blades each
of 30 cm width would be

(A) 7-95%
(B) 6:95%
(C) 7-50%
(D) 8:50%
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(
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(A) 500 °C-700 °C

(B) 600 °C-800 °C

(C) 700 °C-900 °C

(D) 1000 °C-1200 °C
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gt

(A) 3:6 m/s-5 m/s

(B) 58 m/s-6:5 m/s
(C) 11 m/s-14 m/s
(D) 17 m/s-21 m/s
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(A) 7-95%
(B) 6:95%
(C) 7-50%
(D) 8:50%
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9.

10.

11.

12.

The assumption of the ideal Otto
cycle is

(A) piston has zero friction in
the cylinder

(B) only air is used in the

cylinder

(C) no heat transfer takes place
through engine wall

(D) All of the above

Octane Number Requirement
(ONR) of an engine is affected by

(A) air-fuel ratio
(B) combustion chamber design
(C) ignition timing

(D) All of the above

Gum content
causes

in engine fuel

(A) sticking of intake valve
(B) sticking of exhaust valve
(C) cleaning of piston

(D) cleaning of exhaust valve

Which of the following is an
absorption dynamometer?

(A) Prony brake dynamometer
(B) Hydraulic dynamometer
(C) Air-brake dynamometer

(D) All of the above

25/AGS/M-2023-06/16-A
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Tractors in the range of 60-90
Pto HP has Pto speed of

(A) 540 r.p.m. only
(B) 1000 r.p.m. only

(C) both 540 r.p.m. and
1000 r.p.m.

(D) 1200 r.p.m. only

The danger of overturning of
tractor can be reduced by

(A) careful driving

(B) proper location of CG

(C) proper location of hitch
point

(D) All of the above

The value of tractive efficiency of
a tractor, on stubble and
ploughed surface, reaches to its
peak at

(A) %rd of maximum drawbar
load

(B) %rd of maximum drawbar
load

© %th of maximum drawbar
load

(D) equal to maximum drawbar
load

In a clutch, abnormal wearing of
lining may occur due to

(A) insufficient pedal free play
(B) warped pressure plate

(C) overriding of the clutch

pedal
(D) All of the above
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17. In general, the tractor engine oil
should be changed after

(A) S0 hours of working
(B) 100 hours of working
(C) 120 hours of working

(D) 150 hours of working

18. Tractive- and transmission-
coefficient for track-type tractor
on soft ground would be

(A) 020 to 0-30
(B) 0-50 to 0-60
(C) 0-80 to 0-85

(D) None of the above

19. For complete closure of engine

valve, a clearance of is
provided at the end of the valve
stem.

(A) 015 mm-0-41 mm
(B) 0:31 mm-0-51 mm
(€) 0:50 mm-0-60 mm

(D) None of the above

20. Weldability of a metal depends
upon its

(A) melting point
(B) thermal conductivity
(C) thermal expansion

(D) All of the above

25/AGS/M-2023-06/16-A
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21. In oxy-acetylene welding, the
temperature of flame in its
hottest region is about

(A) 2800 °C
(B) 3000 °C
(C) 3200 °C
(D) 3450 °C

22. The size of a
determined by

shaper is

(A) overall
shaper

dimensions of

(B) maximum length of stroke
(C) the size of shaping tool
(D) None of the above

23. Based on its method of
mounting, which is a class of
milling cutter?

A) Arbor type

Y

Shank type

Q

) Facing type

— o

D) All of the above

24. The effective field capacity of a
machine depends on

(A) rated width of machine

(B) time lost
operation

during field
(C) percentage of rated width

actually utilized

(D) All of the above
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25.

26.

27.

28.

The draft requirement for
a coulter, in plough-coulter
combination, is about

(A) 5-10% of total draft

(B) 10-17% of total draft
(C) 15-20% of total draft
(D) 20-22% of total draft

In a high-pressure orchard
sprayer, the favourable condi-
tion for good foliage penetration

(A) small spray angle

(B) large droplet size

(C) high discharge velocity from
spray nozzle

(D) All of the above

In a field forage chopper, the

length of cut can be varied by

(A) changing the speed of feed
mechanism

(B) changing the number of
knives

(C) changing the
cutting head

(D) All of the above

speed of

According to D. Hunt, which of
the following parameters is
directly proportional to the
width of an implement?

(A) Initial cost of the implement

(B) Operating cost of tractor per
hour

(C) Operating cost of implement
per hour

(D) All of the above

25/AGS/M-2023-06/16-A
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The advantage of mechanization
is

(A) timely application of input
(B) drudgery reduction

(C) increased cropping intensity
(

D) All of the above

In case of cultivated lands, the
depth of soil of ‘plough layer’
ranges between

(A) 10cm to 15 cm from the
ground surface

(B) 15cm to 20 cm from the
ground surface

(C) 20cm to 30 cm from the
ground surface

(D) None of the above

Useful forces are the forces that
a plough must overcome in

(A) soil cutting, lifting, invert-
ing and pulverizing

(B) soil cutting only
(C) soil pulverizing only

(D) moving of soil only

If a subsoiler is working too deep
below the hard pan, then it will
cause

(A) increased area of soil

disturbance
(B) less draft
(C) smearing of soil

(D) All of the above
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33.

34.

35.

36.

Cambridge roller has

(A) a single roller with smooth
surface

(B) more than one roller with
ribbed surface

(C) more than one roller with
smooth surface

(D) single roller with ribbed

surface

PVC pipe used as seed tube of
seed drill should have internal
diameter of

(A) 25 mm-30 mm
(B) 45 mm-50 mm
(€) 50 mm-60 mm
(

D) 60 mm-70 mm

A grubber weeder is used
for weeding and interculture
operation in

(A) lowland row crops
(B) upland row crops

(C) both lowland and upland
TOW Crops

(D) None of the above

Which of the following sprayers
produces uniform size droplets?

(A) Knapsack sprayer

(B) Foot sprayer

(C) CDA sprayer

(D) Boom-type field sprayer

25/AGS/M-2023-06/16-A
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37. In mechanical harvesting, the
lodged crop
(A) increases machine effi-
ciency
(B) decreases machine effi-
ciency
(C) does not affect machine
efficiency at all
(D) Machine efficiency remains
same as in case of upright
crop
38. Compared to a wide cylinder, a
narrow cylinder combine has
(A) small size of threshing
cylinder
(B) large size of threshing
cylinder
(C) equal size of threshing
cylinder
(D) None of the above
39. Which of the follwoing threshers
produces fine quality Bhusa?
(A) Syndicator thresher
(B) Wire loop thresher
(C) Rasp bar thresher
(D) Axial flow thresher
40. Rectangular balers are more
popular due to
(A) smaller size of bales
(B) higher field efficiency
(C) less power requirement
(D) All of the above
10 I AU
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41. As per BIS recommendation, the 45. 1 kg mole of gas at 273K

minimum weight of flywheel of a
hand chaff cutter is

(A) 25 kg

occupies

A) 164 m3 volume

(
(B) 184 m3 volume
(B) 24 kg (C) 204 m3 volume
(C) 27 kg (D) 22:4 m3 volume
(D) 26 kg . . .
46. A fluid is said to be Newtonian
. ) fluid if it
42. In order to determine puddling
index, the soil-water suspension (A) has high viscosity
is kept undisturbed for (B) shows linear relationship
(A) 12 hours between shear stress and
strain
(B) 16 hours
(C) has low viscosity
(C) 18 hours ) .
(D) shows non-linear relation-
(D) 24 hours ship between shear stress
and strain
43. The distribution line of food
processing operations in the 47. Which one of the following is a
industry follows the system of non-Newtonian fluid?
(A) straight-line layout (A) Water
(B) L-layout (B) Coconut oil
(C) U-layout (C) Solution of sugar
(D) All of the above (B) - Glycerol
48. The advantage of processing of

44. In freezing of food product for
storage, the product is kept in
temperature range of

(A) 3°C to 5°C

(B) 10 °C to -15 °C
(C) -18°C to -25 °C
(D) -3 °C to -5 °C

25/AGS/M-2023-06/16-A

harvested crop is
(A) reduction in keeping quality

(B) deteriorating materials
changed into food materials

(C) limited use  of
processing industries

agro-

(D) unemployment increases

12 [THNEETHTI s
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41. o 3o THo ITIIM o R, T °
I e el YT % Telseeled ol
S[aH a9 B 8

(A) 25 kg
(B) 24 kg
(C) 27 kg
(D) 26 kg

42. vefem Teaw fuff@ w0 % fog,
frgt-arht 3 =t 1 STty W S @

12 =2 & fom
16 =2 & form
) 18 =2 % ferw
D) 24 = % fau

A

R

43. AW A G JEER wET S faa
e fore gomeft T SR Rt 27

(A) Hieft TEn oz

(B) L-we13e

(C) U-w=T=e

(D) 3w Tt

44, YU % fOU @@ IAR FH HIS wE

I @ fopg amuE € g @
STTT 87

(A) 3°CH® 5°C
(B) -10 °C & -15 °C
(C) -18°C & —25°C
(D) -3°C & -5°C

25/AGS/M-2023-06/16-A

45.

46.

47.

48.

GET IT ON
Google Play

273 K W 1kg A 19 fohan e
ot 27

164 m3 I

Z

184 m3 I

Q

) 204 m3 3TFaH

— e
~—~

D) 22:4 m3 I

ot g3 1 =& 59 Fa1 S g,
RICH

(A) =Afersh war arer 8

(B) FPR ®@ 3R A & o= =
Grel aMaT &

(C) 9 T 9T B

(D) fimr wa 3k ©q % fa -fas
ey awTdn 8

Ffafad 9 9 ®E-9 T W=
EC ]

F T WU o THEHT KT AT 7
(A) TUTERI ST W H HH
(B) @& g arell wwft, @ wwft

T yiEfda &t sl 2
(C) Fu-wwwau  3@rl w1 Hife
3T
(D) SIS =t &
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49. For transportation of grain with 52.
a belt conveyor, the speed of belt
should not increase more than
(A) 1-5 m/s
B) 2:5 m/s
(C) 35 m/s
(D) 45 m/s 53.
50. The capacity of a screw conveyor
is not influenced by
(A) screw diameter
(B) inclination of screw blade
(C) speed of blade 54.
(D) None of the above
51. In pneumatic conveying, the air
velocity required for dispersion
of bulk material, is in the range
of
55.
(A) 15 m/s-30 m/s
B) 12 m/s-25 m/s
(C) 10 m/s-20 m/s

(D) 8 m/s-15 m/s

GET IT ON
Google Play

The important parameter for
design and complete automatic
clearing of bin is

(A) bin height

(B) feeding method of bin
(C) angle of grain friction
(D) All of the above

Safe storing days of wheat for
good germination, with initial
moisture content of 15% and
temperature of 23 °C, is

(A) S days
(B) 7 days
(C) 10 days

(D) 15 days

Pharmaceutical related products
can be dried by

(A) spray drier
(B)

©)

tray drier
tower drier

(D) rotary drier

One ton of refrigeration is
equivalent to the capacity to
absorb heat at the rate of

(A) 3516 kW
(B) 2:516 kW
(C) 2615 kW
(D) 3-156 kW
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49, T FHAW H IENS & TIET & fog

50.

51.

A AR R £ e T B
=Y ?

(A) 1:5 m/s
B) 2:5 m/s
(C) 35 m/s

(D) 45 m/s

T ol gHal fReh g0 uwTea
T et 27

(A) T A

(B) T =i I gH1d

(C) =g & T

(D) 3% H & I 7

I Haed | o At % BaE %
fo. atrerwash &g 9 i dimn a3
(A) 15 m/s-30 m/s

(B) 12 m/s—25 m/s

(C) 10 m/s-20 m/s

(D) 8 m/s—15 m/s

25/AGS/M-2023-06/16-A

GET IT ON
Google Play

52. fom & fesied i qoi wnfera oW &

53.

54.

55.

fore wemagol et &

A) fom & =

(B) fom =t wa <t fafyr

(C) 3TATST 1 =0T HIof

(D) 3T @t

= W & foru T % gefia dewo

& o, urfryess T & A 15% 2R
AOEH 23 °C % |19 gt

(A) 5fe
(B) 7T
(C) 10f&
(D) 15 f&

FHECHA TG 3@ Bl GEm

ST ®

(A) & PR BN
(B) 2 SR Em

(C) =g g

(D) el SRR 3

T 29 URfidd, & g Tl W
NS A il &9dT & T9ged 2

(A) 3516 kW
(B) 2516 kW
(C) 2615 kW

(D) 3:156 kW
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56. Separation of cream from milk

57.

58.

59.

can be best done by keeping the
milk at temperature

(A) 8 °C
(B) 6 °C
(C) 4 °C
(D) 2 °C

The term ‘loss tangent’ is related
with

(A) radiation heating

(B) microwave heating

(C) heat exchangers

(D) freezing

Which of the following screens

is more helpful for screening of
wet material?

(A) Stationary screens
(B) Vibratory screens
(C) Gyratory screens
(D) All of the above

The minimum and maximum
wall thickness of a bag storage
structure is limited to

(A) 25 cm and 30 cm
(B) 30 cm and 35 cm
(€) 35 cm and 40 cm

(D) 375 cm and 45 cm

25/AGS/M-2023-06/16-A

GET IT ON
Google Play

60. In a deep bin, the plane of
rupture
(A) meets the opposite side

before emerging from grain
(B) meets the grain surface
before striking the bottom
(C) meets the grain surface
before striking the opposite
side
(D) None of the above

61. The permissible loss for wheat,
rye and barley stored in bulk in
flat warehouses for over one
year is
(A) 0-12%

(B) 0-20%
C) 12%
(D) 12%

62. While designing of grain bin,
which  formula takes into
account the friction between the
grain and bin wall?

(A) Hydrostatic formula
(B) Rankine’s formula
(C) Janssen’s formula
(D) None of the above

63. Which of the following factors
affects the drying of grain in a
dryer?

(A) Grain feed rate
(B) Type of dryer and drying
method
(C) Depth of grain
(D) All of the above
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56. Y § TS ol AHT F I ol 31w

57.

58.

59.

30 g9l foRE ammE W @R fR
T TR 37

(A) 8 °C
(B) 6 °C
(C) 4 °C

(D) 2 °C

(A) T €fen
(B) HrEshiaE e
(C) e uw=sH
(D) SIS (ST

freafafga & @ SF-d s ()
it gmft & I & fau s
g 87

(A) TR =H

(B) A S

(C) el BhiA

(D) 3T @+

A TSRO TGN F AR A A A
S[aq iR siferkan € 2t 2

(A) 25 cm 3R 30 cm

(B) 30 cm 3R 35 cm

(C) 35 cm 3R 40 cm

(D) 37-5 cm 3R 45 cm

25/AGS/M-2023-06/16-A

GET IT ON
Google Play

60. T fom A, wiF 36 T=R

61.

62.

63.

(A) 3 ¥ e @ veet fauda femm
¥ firerar @

(B) & T ¥ TEd WS I TaE ¥
foreran 2

(C) faudia feem & eom ¥ wedt 3N
1 e o e §

(D) 3IWw § | g AL

T 99 O ARk THF I i Memt §
G H WUEE R, T3 AR S & g
ITHT JHAM BT ©

(A) 0-12%

(B) 0-20%
(C) 12%
(D) 12%

A o o fegT o w9, -
T3 S 3R fod it dar & o= =
I eAH  TEdr 27

frefafgs @ ¥ -9 FRF SR A
IS G@H h YA BT 27

(A) 3IES H hIS X

(B) SRR I YR 3R g@™ i fafy
(C) @S =1 TETE

(D) I weft

17 [TENEGTTrnenmm ¢ e.r.o.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

64. ‘Grain isotherm’ is the
relationship between

(A) ambient air

and air humidity

temperature

(B) grain temperature and
grain moisture

(C) equilibrium moisture
content and equilibrium

relative humidity
(D) None of the above

65. The surcharge angle formed by
paddy grains is

(A) 25°
(B) 20°
(C) 15°
(D) 12°

66. Which of the following methods
obtain the
reciprocating movement of the

is used to

ram and quick return

mechanism in a  shaping

machine?

(A) Crank and slotted link
mechanism

(B) Whitworth quick return
mechanism

(C) Hydraulic shaper mecha-
nism
(D) All of the above

67. Which type of flow takes place in
an extruder?

(A) Drag flow

(B) Pressure flow
(C) Leakage flow
(D) All of the above

25/AGS/M-2023-06/16-A

68.

69.

70.

GET IT ON
Google Play

In a compression test, even for a
small strain, the Hookean
elasticity does not exist in

(A) fruits

(B) vegetables

(C) cereal grains

(D) All of the above

Out of the following, which

criterion is not considered while
constructing a farm gate?

(A) Simple construction

(B) Sufficient height

(C) Weight of gate

(D) Maximum strength

Which of the following is a type
of poultry house?

(A) Wire floored

(B) Deep litter

(C) Cage house

(D) All of the above
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64.

65.

66.

67.

frefafaa & @ frh e & arery #
T g’ FEd 27

(A) ufaeft o qoEE 3R a1y
(B) WIS ol ATOHM TR TS Y T

(C) drx et it W R T e
TR

(D) 39 § & &g T

g % Tl O T e AR
BT 7

A) 25°

o 2z

20°

@)

) 15°

— o

D) 12°

TF AT Aefa § W R fee fed
Honfsw 1 IRTSeRfeT qave frefafad
H ¥ form fafyr gron wmw et 27

A) =% 3R Tree foleh Bhfaen

(
(B) fezast frr fred refrem
(
(

C) TrEgiiersh I HehiasH

D) 39w A+t

TFEg g TR @ wER (F)
g &7

(A) ST
(B) WeR At
(C) <fehst et
(D) 3T @w+ht

25/AGS/M-2023-06/16-A

GET IT ON
Google Play

68. U Gdied Tdeq H, & d% foh TF DI

69.

70.

TE & fau off, gem a= T |
forerd &Y e 27

(A) wai |

(B) wfssen o

(C) S & gAl |

(D) 3w @+t

®H 2 1 FHH i gw FeEfafaa 9
o frg wme s W fem wd@ feen
ST 27

(A) wremor fmfor

(B) watH =g

(C) 2 = IsH

(D) ifereham wSfecht
ffafed & @ ®F-w1 Fiaes T8 &
TS TR 27

(A) TRR TS

(B) ¥ foaex

(C) = E=W

(D) 3w |t
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71. 1 kg/cm? is approximately 74. The variation in dropping of seed
equal to and fertilizer in different feeding
outlets separately shall not be
A) 103 Pa more than % and %
respectively from the average
quantity.
(B) 10° N/m? Y
(A) 8, 125
(€) 10* N/m?
B) 5, 10
(D) None of the above
c 7, 12:5
(D) 5, 12
72. The principle of working of the
constant volume thermometer is
based on 75. Sprayer pump variation in
discharge rate between first and
(A) Charles’ law last collection pan shall not be
more than
(B) Boyle’s law (A) +4%
(C) Gay-Lussac’s law (B) £5%
(D) the equation of state (C) £6%
(D) £7%
73. What should be the minimum
field efficiency and puddling 76. AS per BIS, the combine losses
index of rotavator? should not be more than
for wheat and paddy.
(A) 85% and 75%
(A) 1-5%
(B) 80% and 70%
B) 2:5%
(C) 75% and 65% (C) 35%
(D) 65% and 75% (D) 4-5%
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71.

72.

1 kg/cm? e fohaeh awmer 27
(A) 103 Pa

(B) 10° N/m?

() 10%* N/m?

(D) 3w & & g T

forR Ao amie & wE wH H
forgra form w amenfa 27

(A) =ed = frm

(B) ataa w1 Fm

(C) T-ggamk =1 frm

(D) THIE ATH W2

75.

GET IT ON
Google Play

74. IAT-IAAT FIfEn Ee A i 3

INH B AT-IAT TR A e
wifefe o fimar s % 3
% & Aferes Tt Bt =i
(A) 8, 12'5
(B) 5, 10
(C) 7, 125

(D) 5, 12

fewSl o § WK 99 3= TR 3T
I HUE Sdq § Y feeh el
BT =R |

(A) 4%
+5%

+6%

7%

73. mﬁwm?{wwm 76. aﬁomo@oégangg,ﬁiaﬁ(wﬁ
TIH AT ST AMRN? FHEETEA BT o orfess T @t
Eld
(A) 85% 3R 75%
(A) 1:5%
(B) 80% 3TR 70%
(B) 2:5%
(C) 75% 3R 65% (C) 3-5%
(D) 65% 3R 75% (D) 4-5%
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77. The threshed grain received at
main outlet with respect to total
grain input expressed as
percentage by mass is

(A) threshing efficiency
(B) cleaning efficiency
(C) winnowing efficiency
(D) None of the above
78. Seed damage, multiple dropping

of seeds and missing seeds are
the disadvantages with

(A) horizontal cell plate-type
planter
(B) inclined cell plate-type

planter

(C) vertical plate- or drum-type
planter

(D) All of the above

79. RPM of medium speed engines
is usually in the range of

(A) <350
(B) 350-1000
(C) 1000-1500

(D) >1500

25/AGS/M-2023-06/16-A

GET IT ON
Google Play

80. In combine harvester, the ratio
of reel peripheral speed to
forward speed (reel speed index)
should normally be in the range
of
(A) 1-25 to 1-50
(B) 1-50 to 1-75
(C) 175 to 2:00
(D) 2-:00 to 2-50

81. Mouldboard or MB plough is
made up of
(A) soft centre steel
(B) mild steel
(C) high-carbon steel
(D) manganese steel

82. The effective field capacity of a
1-6 m cutter bar reaper working
at 2 kmph with field efficiency of
80% is
(A) 0256 ha/h
(B) 0-256 acre/h
(C) 0:156 ha/h
(D) 0-356 acre/h
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77. T MO W YW 9T TEI AW A
Y § A+t IFi % ITguTa i, 5= "
o Tfaera | =aeh T3 ST 8, Fed @

(A)  AfEET geran
(B) WIS geAd
(C) faamgm garan
(D) 3w § ¥ g 7

78. IS F 22, T WF FF A AT @R
et 7 fren fe § @ o goae 27
(A) TRESIed T Wie-2T8Y WX
(B) TS Ud wie-21ed WTet
(C) afiwal wie- a1 gH-2T2Y X
(D) 3w @+t

79. UM T ESEl hl ARo Ho THo
AR W EA 2
(A) <350
(B) 350-1000
(C) 1000-1500

(D) >1500

25/AGS/M-2023-06/16-A

GET IT ON
Google Play

80. whared gEE ¥ Ot uftefiy wfq 3w am
# fa (fa Tie M) * TG
T 1 g § g =Ry
(A) 125 ¥ 1-50
(B) 1-50 & 1-75

(C) 175 ¥ 2:00

(D) 2:00 & 2:50

81. Ticeale (o o) wire: fFE 91y §
1 BT &7

(A) T & LI
(B) & A
(C) = wEA &
(D) " e
82. 80% il &7 q&ral & WY 2 kmph
Td & &M A ad 16 m HR GR
T Y et & e @
(A) 0-256 ha/h
(B) 0-256 acre/h
(C) 0-156 ha/h

(D) 0-356 acre/h
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83.

84.

85.

The purchase price of tractor is
¥5,50,000, useful life is
10 years and salvage value is
10% of  purchase price.
Following the sum of the years
digit method, the depreciation in
third year is

(A) ¥52,000
(B) ¥62,000
(C) ¥72,000
(D) ¥82,000

The purpose of lubrication is
(A) reducing friction effect
(B) cooling effect

(C) sealing effect

(D) All of the above

Crown wheel is a part of

(A) differential system

(B) clutch system

(C) steering system

(D) brake system

25/AGS/M-2023-06/16-A

GET IT ON
Google Play

86. In forced feed lubricating
system, pump is driven by

(A) camshaft
(B) crankshaft
(C) PTO shaft

(D) None of the above

87. In paddy processing, parboiling
is done to

(A) increase the moisture
content

(B) minimize the  breakage
during milling

(C) minimize the head rice
recovery

(D) All of the above

88. The energy necessary to cause a
change in the particle size is
directly proportional to the size
of the particle raised to a power
n is given as

(A) Bond’s law
(B) Kick’s law
(C) Rittinger’s law

(D) Hooke’s law
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83. X = WiE g ¥5,50,000 %,
I T 10 99§ IR = g,
Ti{E 4 ® 10% gl a9 % IM ITH
fafr &1 oW i ge dW a9y |
qE-gE ____ ®|
(A) ¥52,000
(B) ¥62,000
(C) ¥72,000

(D) ¥82,000

84. oo™ o1 339 @
(A) =fOT YIS T R HEAT
(B) ftdeH gwra
(C) Hifem yuma

(D) g

85. HEA I W fowd g
(A) Tewrf=ma gome
(B) T JOTTelt
(C) Trfar yurmedt

(D) S YTt
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86. WIS Hig Ml YUITell U, 79 feohdes gmI

87.

88.

Henfera 2rar 87

(A) HHEITFE

(B) Sh=huTTHe

(C) o Fo 3TMo MU

(D) 3T | ¥ HIE T

o TEERUT T, TRETSienT SRl ST 8
(A) T Y HE seM % fow

(B) fafert & 4R 22-%2 w0 FH &
fer

(C) @ TzH Fepall 1 =FaH A
fer

(D) Suts |t

FU F AFR H UlEadd W & forw
ATEaIH Foll, n s qoh 9T MY HU
F AR F WY guiasw 2, 5@ fean
™ ®

(A) e & g & w9 b

(B) e & fom & w9 &

(C) Tfom = fom & ww &

(D) T o | % ' H
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89.

90.

91.

Which among the following is a
food safety standard?

(A) ISO 9001

(B) ISO 22000

(C) ISO 14000

(D) All of the above

The Prevention of Food

Adulteration Act is enforced by

(A) Ministry of Food Processing
Industries

(B) Ministry of Health

(C) Ministry of Agriculture

(D) Ministry of Commerce

Which of the following is a

biodegradable plastic packaging
material?

(A) PET
(B) PLA
(C) PVC
(D) LDPE

25/AGS/M-2023-06/16-A

GET IT ON
Google Play

92. Deep bed drying is characterized
by
(A) ambient temperature drying
(B) uniform drying rate
(C) underground drying struc-
ture
(D) significant moisture and
temperature gradients in
bed
93. Screw conveyor is generally used
to move grains horizontally;
however, it can also be used up
to an angle of
(A) 15°
(B) 30°
(C) 45°
(D) 90°
94, Fourier equation is used to
calculate heat transfer by
(A) conduction
(B) convection
(C) radiation
(D) All of the above
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89. fafafad @ @ =\-w1 @@ T
A 87

(A) o THo 3o 9001
(B) =20 THo 3Hto 22000
(C) 3TmZo WHo 3ATo 14000
(D) 3T @+

T e Fere erfutem s
EGURSIRERIISIG A

90.

(A) @I TR I T

(B) & TATTH

(C) HiY wIre

(D) aTfors HaTer

ffafias & 9 FR-d@ TEifeleesa
e Yonfor g 27

91.

(A) PET

(B) PLA

(C) PVC

(D) LDPE

25/AGS/M-2023-06/16-A
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92. @ s faftr grr gum #i fomivar #
(A) 9fEe AIEE W) gEA
(B) THEHH Fu™ H R
(C) ~ffd G 1 T

(D) 9 ¥ mWewyqu = I qHE
TJUTdT

93. T FHR H WM AR T S i
Qfasl ®U ¥ TIFTANG = & e foman
AT 8, STl S8R S9AT _ dh

ot foram ST Hema 21

(A) 15°

(B) 30°

(C) 45°

(D) 90°

94, iR iRl &I 3T TR il
ST TR it 0T % fore 2 2|
(A) e
(B) FAwH
(C) fewm
(D) 3w @+t
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95. Which physical

96.

97.

property is

necessary to evaluate aero-

dynamic properties of food in
case of terminal velocity?

(A) Density
(B) Shape
(C) Drag coefficient

(D) All of the above

In which type of barn, the cows
are housed and milked in the
same building?

(A) Loose housing barn

(B) Open air barn
(C) Stanchion barn

(D) None of the above

For a thermodynamic system,
work done in a process depends
upon the

(A) state of the system
(B) path of the system

(C) nature of the system

(D) external pressure

98.

99,

100.

GET IT ON
Google Play

What is the mode of transfer of
thermal energy through the
movement of a liquid or a gas?

(A) Radiation

(B) Conduction

(C) Convection

(D) Evaporative cooling

An instrument used to measure
the solar radiation is

(A) thermometer
(B) pyrheliometer
(C) thermocouple
(D) All of the above

A reflector used in solar power
plant to reflect solar light is

(A) convex reflector
(B) concave reflector
(C) plain reflector

(D) All of the above
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97.
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(A) Idca
(B) TR
(C) di= 1T

(D) IwI® wft

99,
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(A) Gl AE™ Giete™

(B) Geit a1 Wicle™

(C) T wfeem

(D) 3w | ¥ HIE T

100.
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(A) et it feafa @
(B) UTTett o 99 W
(C) oTTett st SERld &)

(D) el geE W

GET IT ON
Google Play
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(B) @eTeH

(C) e
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(A)  uHTHIX

(B) dreteiferaiiie

(C) wHishuet

(D) 3w wef

R Sl g9 # OR v sk ufdfefesd
HH b faw IWM TR S aTen
ERERER

(A) IO Wadh

(B) 3add WEdh

(C) ®TeT Wrade

(D) 3w |t

29 ([N iinwwnmm ¢ e.r.o.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

SPACE FOR ROUGH WORK / T&% &M o {10 Tere

25/AGS/M-2023-06/16-A 30 VMLV VO T ARTRNRTR AT


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

SPACE FOR ROUGH WORK / T&% & o {10 Tere

* k ok

25/AGS/M-2023-06/16-A 31 (MU mm e ¢ e.r.o.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

25/AGS/M-2023-06 gfedaT @t
ITHIEAR T JHATH A
T -YEdaehT
Y i
qHT 29 2 qaA—II quTteh : 200
9T h IW I ° Uge {19 o1 31gevil it & € ug @ |

HEwqUl e

T T-gfeqe § Fel 100 T E
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asft gl * IW

e ST Bd E Sa iUl Uya-gitaeRt i Wiw oK 3@ o fR 3o IW grfl iR uva-gfere 6

TG GiEa B | FUAT A o Toh Yieden o T wE 2g 91 gSt (Y8 H@EA 30 R 31) @iea | 32 giEa

U8 ¥ 3R H3 U5 a1 A9 TG A1 fSAT TUT g AT WeT g AT ST ST AN Av E g1 gieaew ®

TorEt TR Y IR U W Akt 3k FEd ST G i gE WEt gieaet & @ |

5. Afe foret e o FoREl TeRR <1 I GEUT A1 q2ATCH TR h1 J(C 2, 1 TRl o6 S a1 et ®a=ad 4 9
TS EAT-R 1 /e HHT SR

6. 30 U5 % FW (YR T § 01 TIHAG v ford | TH-gEe W R 3D A fow)

7. T % IR & 6 TTU 3Rt Te-GfETeR died ST T G SR | 3TUR ST Uk o U8-2 W fAuifa e
T 3UAT TH, ITShHTeh, TI-JREaehT JEE qom 37 [IaRur 3@ya fofd /e iueht 3w u=eh Aren
T S

8. IW TAF o YB-2 W MG TIH H U4 TehuTeh a1 F¥A-Yieaeht i J@e1 A, B, C a1 D 41 34
J-YfEdehT % TRV g8 %k W IR AR SifRd B, ¥ wrafud wime i wrcl /Aot vl % afa-dige =
T T F2aE i | IW Uk W T-YIEaert Frren 3ifeha T e eruat e g sifehd A W I
U 1 WE oA @l gl

9. 9 gfeaent # ft U TR 37 W S wa fedt ¥ gfsd 31 ve® 79 & 9R 3®—(A), (B), (C) 3R (D)
w0 W A T F| T U A IS G hael Teh 3T S g 3R I I e W AfRd | A mmaent v
o fop foreht o9 o e @ S1ftres I g B, A1 3T 319 ST ek § 3 I okl 3ifeRd R S STeR GaTd ol |
TAF Y % ToTC halel Ueh & I JAT 2 | SAIehT el TTHIS 3MUeh FRT I 0k | 2Afehd @t 3o W sl
il

10. I WF § TAF WA T % 4 AR Iq 39 TR o gL e—@), B, © 3R @)1 WA % IW I *F [
IR AT TH< F HAA ek I okl hiedt /el WTE & Sicd-uizee 99 § Ffgd w5 21y 7 & o
e Teh I I G ST IY 9 I T | Fafgd {1 3179 I v # afe vk T o foIe us | o1 g9
e e €, @1 AUl ST Teld HHET STRAT| IWR USeh # IWR Rl TeIfgd oA o foT0 sharet et /et
E & qA-Ulze U9 &1 @ T w1 fRdt off TR T wre-ge stgan uftada wre TE R

11. -GfedehT § hiE =1 HIST AT TR AT 741 2 | Te-GfEqehT TR T T3k ol WIeq il Tafy § wdieq waq 9
FTEX AT 7 ST | THETT o THTIT W IR UAh S1eTeh Tl TaTT €T & | 36k 18 TR T T -Jfeaaeht
I WY A S A AN R

12. W % TR § ¥ forelt T 1 oft Ore T8 i W A W TN o {TeshigaR HRAE H S gehdl @ 3T
I g T feam s weRar 21

13. 3eeff S w=ek A At Sufedfd § Self Adhesive LDPE Bag # T8t @ & e /dict sta o 3IWd &

THieTRE B BIS |

Note : English version of the instructions is printed on the First Page of this Booklet.
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